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SELECT 1Id,
DisplayName,
Location,
Age,
AvgAgeInLocation = AVG(Age)OVER(PARTITION BY Location),
MaxAgeInLocation = MAX(Age)OVER(PARTITION BY Location),
MinAgeInLocation = MIN(Age)OVER(PARTITION BY Location)
FROM Users
WHERE Age IS NOT NULL AND
Location IS NOT NULL AND Location <> '’
AND EXISTS (SELECT NULL FROM Posts WHERE PostTypeId=1 AND OwnerUserId = Users.Id)
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SELECT 1Id,
DisplayName,
Location,
Age,
AvgAgeInLocation = AVG(Age)OVER(PARTITION BY Location),
MaxAgeInLocation = MAX(Age)OVER(PARTITION BY Location),
MinAgeInLocation = MIN(Age)OVER(PARTITION BY Location),
FirstUserIdFromLocation = FIRST_VALUE(Id)OVER(PARTITION BY Location ORDER BY CreationDate),
FirstUserNameFromLocation = FIRST_VALUE(DisplayName)OVER(PARTITION BY Location ORDER BY CreationDate)
FROM Users
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WHERE Age IS NOT NULL AND
Location IS NOT NULL AND Location <> "'
AND EXISTS (SELECT NULL FROM Posts WHERE PostTypeId=1 AND OwnerUserId = Users.Id)
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with cte as(
SELECT Id,

DisplayName,

Location,

Age,

AvgAgeInLocation = AVG(Age)OVER(PARTITION BY Location),

MaxAgeInLocation = MAX(Age)OVER(PARTITION BY Location),

MinAgeInLocation = MIN(Age)OVER(PARTITION BY Location),

CountInLocation = COUNT(*)OVER(PARTITION BY Location),

FirstUserIdFromLocation = FIRST_VALUE(Id)OVER(PARTITION BY Location ORDER BY CreationDate),

FirstUserNameFromLocation = FIRST_VALUE(DisplayName)OVER(PARTITION BY Location ORDER BY CreationDate)
FROM Users
WHERE Age IS NOT NULL AND

Location IS NOT NULL AND Location <> "'
AND EXISTS (SELECT NULL FROM Posts WHERE PostTypeId=1 AND OwnerUserId = Users.Id)
)
select *
from cte
where CountInLocation > 100 AND Age - AvgAgeInlLocation>10
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with cte as (
SELECT Name,
Userld,
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RN=ROW_NUMBER()OVER(PARTITION BY Name, UserId, DATEPART(Year,Date), DATEPART(Month,Date) ORDER BY Date DESC)
FROM [S0-2016].[dbo].[Badges]

)

select *
from cte
where RN>1
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SELECT Location,
NumOfPeople=COUNT(*),
MaximumNumOfPEopleInAnylLocation = MAX(COUNT(*)) OVER(PARTITION BY 1)
FROM Users
WHERE Location IS NOT NULL AND Location <> ''
GROUP BY Location
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with usersToBadges as (
SELECT Name,
CurrentUserId = UserId,
FirstGot = MIN(Date),
LastGot = MAX(Date),
FirstEverUserId = FIRST_VALUE(UserId)OVER(PARTITION BY Name ORDER BY MIN(Date)),
CountUserHasThisBadge = COUNT(*),

AverageCountForUsersToHAveThisBadge = AVG(COUNT(*))OVER(PARTITION BY Name)
FROM Badges

GROUP BY Name,UserId
)
SELECT usersToBadges. *,
CurrentUserName = cur.DisplayName,
FirstUserName = f.DisplayName
FROM usersToBadges
JOIN Users cur ON cur.Id = CurrentUserId
JOIN Users f ON f.Id = FirstEverUserId
WHERE CountUserHasThisBadge > AverageCountForUsersToHAveThisBadge
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